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A B A
( 7.5m) | ( 15m) | ( 14m)
gi 0.57 1.09 0.68
o _ - _ (sec) 0.54 1.00 0.55
(i=1~3: 1=4~6: _ (m) | 30x32 | 45x50 | 4.0x60
gi =aiVc +a2Vs - aaVact, (i =14) (5) - 029122 | Doz228
gi =a4du - asd, (i=25) (6)
i D16@150 | D16@150 | D16 100
gi =dra - Cr(asd- dy), (i =36) (7)
D16@150 | D16@150 | D16 100
Ve Vs
0.17% 0.16 0.33
Vact ar a2 a3 Vc Vs
0.18% 0.18% 0.35
Vaut du Pfos | 1.23x 10 * | 2.05x 10 * | 4.80x 10 2
d a4 ( )
as
dRra Cr dy
6 @3] Pfsys 2
(3) M do \Y
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Ve 10.0%
Vs 8.0%
Vact 4.6%
ai 1.02 8.2%
a2 1.22 14.5%
as 1.00 30.0%
du 6.1%
d 30.0%
as 1.16 25.0%
as ( )
dra ( )/100 ( )
dy 8.2%
Cr (=06) 50.0%
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Vc Vs Vact du dy
d
v v v
SQP
(1(Pfsys - Pfan))/ D
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